2400

(64|
q L —1

HEN (1729
A, 2EEOR
) RBOAZSUSETETT,

QO et

| &
| L —
A ~ L

OfFER (110

[@)]
N

800

0550

50
46

80 1060 10 1060
_ 90| | 11080-880 _ | . 11@80-880
2 ‘ M 90@?@3
2 [EZEZZZZZZZZZZ 41k :::§: u ]
- A {;;}
HHHAARAIMBEEER
o O
258 || - i
N -
U
2 “E:«z:::::::::: 321 ujulujuls :::E:H”:::::
GL
O
ol oL -
22

P o
Eree——FIl|
120

@!!/” §§
$13 =
14 ____'
A-NEBE o

270

1

50

50

B BV

73.2 -
NEREBR (1710
A <

270

60

“HEFER (110

8 B [T B ZI08 ETHY50HC)

5 4 7 | 28 yyT-sEmEHD Al

& & [H2000

& 2290 (@)

HEEs |KFTHO4268

394.5 397.5

292

n n%r’
. . .\\‘

[ o]
600

N R 5 P Sy
NENNEN NI SRR SENNN NENNENN gt truutauau U

€3] (®)

{HHEBR (1716

BE iR B B (mm) it 2 i3 z
1 B A 0100x50xt3.2 STKR400 EHHEEE (Tl - X)
2 MERR 050x 26xt1.6 STKM 1 1AIES v
3 MR B B® 050x26xt1.6 u y
4 i B t1.6 SGH v
5 3 ¥ 050x 30xt1.2 ABOB3S-TH BEBEEORE
6 TPIVRS t4.5. 820 SPHC EHHEEE (Tl - X)
7 k v 9 t6. 920 v v
8 kv YKk $12 = BRIERD-> &
9 I 4x 20 ATV —
10 B ES 12 &
11 % L $13 SGD BRldsnn - &
12 FUETL -} t4 SPHC v
13 EUBR by - - ATYVA —
14 $r47 - PVC -
15 274 FgB t3.2 SGMH40048 HENAZE (TEHY- &)
16 A4 FFIEE t4.5 u v
17 ~BER L M10x75 4.618% BRE - &
18 v M8x 100 u y
19 1 M8x 70 ] ]
20 ] M8x 45 ] ]
21 ] M8x 40 n ]
22 ] M8x 20 ] ]
23 b7 A 2Y MBx 40 ATYLA -
24 mpzxy M4x 35 ATV -
25 PYYTL- b t3.2 SGH HENKRZE (Pa@md- )
26 vy 55k HDvy Y -X - J- 8
27 YUY S-§Er-2 t1.0 SGH HENKZE (Pa@md- &)
28 Ky 72TV -} 11.0. 6.0 u y
29 Ky JAAR-H4 = t1.6 v v
30 SFHTL- b 2.3 v v
31 $TL- b GHD t3.0 RYA-KX-+ -
32 RTL- b (4D v " -
33 SERIER MAHR t1.6 SGH HEWERZE (FHEiv- &)
34| E7A AV Ty Yy - MSX 19 ATV -

OD) BRAREHROLY. TEHR<EET B EABVES,

BiEFHE: vy -5l BpFREnVET,
y)y 5= (T-V8) HDY ) - A& CBAKE TV, (Ay 7ty 64mm. BES0mm)
EEOBAE. BRI -v VY F-% TBAETO,



